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PRINCE OLYMPIAD EXAMINATION
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Instructions regarding filling of OMR Sheet are
mentioned on the OMR Sheet only.

The duration of the examis 12 Hours.
The Question Booklet consists of 100 Questions,

each with 4 Marks. The maximum Marks are
400.

Subject-wise division of 100 Questions are as
follows: Maths-25, Science-25, S.St.-20,
English-20, MAT-10.

Candidates will be awarded 4 Marks for the
indicated correct response to each question.

One mark will be deducted for the incorrect
response to each question.

Space for rough work is also provided in the
Question Booklet.
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01.

1

(1) 5

3 2

02.

number. Find the number.

(1) 360
3) - 360
03.

now, A's age will be 8 years more than twice B's age.
Find the present age of B (in years).

Solve for m: 3(4m + 5) - 4(3 - 2m) = 13

1
(2) 1
@1
Two-third of a number 1s 32 less than three-fifth of the

I

I

I
I
|10

I
(2) - 480 I
(4) 480 |
The present age of A is thrice that of B. Five years from I
I

I

I

I

()2

1
(b 5

1'01. m @ RIT & &Y 3(4m + 5) - 43 - 2m) = 13

!
@1
@1

. Tt A @1 S1-fss, e @ de-alad MR 9 32
B T | T A1 BT |
(1) 360
(3) - 360
03. A & IAM 3Mg B @ 3y & I I ¥ | 3@ ¥ Ui
Iy 918, A DI MY B T MY d QR H 8 a¥ 37D
R | B @ oo ey (aut #) Srd aiforg |

) - 480
(4) 480

(1) 10 )13 (1) 10 )13
() 12 )15 . e )15
Space for IRough Work
PCP sikar Class : VII/P-3 I IT-JEE | NEET | OLYMPIADS 1
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04.

05.

06.

07.

08.

09.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

If X can do a piece of work in n days, then X's p days'

work is
n P
(1) " @
n
Ol (4) pn
Ifxy=23andyz=2:3, thenxiz=_ .
(1H2:3 (2)3:4
(3)5:7 4)4:9
Solve form: 1.2m+2.6 =5
(14 (2)3
(3)2 41

If2(p - 5)= % +5,thenp=__ .

(18 29

3) 10 H11

Two-third of a number is 20 more than three-fifth of the
number. Find the number.
(1) 300

(3) -300

) - 480
(4) 480

3 1
A water bottle 1s g full and 7 of the water 1s drawn.

How much water is remaining in the bottle ?

04.

05.

06.

07.

08.

09.

af X fet ref @1 n fReAt H R WA &, A X B p

i u I
n P
M @ -
n
3) 2 (4) pn
AfE xy=2:3 3R yiz=2:3, A xz=___ .
(1)2:3 (2)3:4
(3)5:7 (4)4:9
m @ Y 8T &% 1.2m+2.6=35
(1) 4 2)3
(3)2 1

ﬁz(p-5)=%+5?ﬁp:

()8 )9

(3) 10 411

forelt e @1 <1-fasTs S uer @ dH—uied AT |
20 SUTST & | W&l ST dlfory |

(1) 300 (2) - 480

(3) -300 (4) 480

T T B e S e § ok S W o

e gt 8 | diaal | = ari e 8°?

|16 217 |16 217
()35 ()35 ()35 ()35
()17 ()35 ()17 ()35
Space for IRough Work
PCP Sikar  Class: ViI/P-3 I IT-JEE | NEET | OLYMPIADS 2
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10. Which of the following is the largest ? I 10. f=foRaa # 9 &9 999 §81 © ?
2 4 | 2 4
M3 @ 7 | O3 @ 7
3 1 | 3 1
2 - I 2 -
@) 3 @) 13 | @) 3 @) 13
11. Which of the following is true ? : 11. f=foRaa 4 9 &9 9 § ?
(1) Triangle is a polygon. (1) RSt U 984dl & |
(2) An isosceles triangle can be obtuse. : (2) T FHfgarg Rt difdihantor 2Ry Bl APl © |
(3) All scalene triangles are acute. | (3) I faaTg RISl =gAepIor 2RIt 814 © |
(1) Only (1) | (1) daet (1)
(2) Only (2) and (3) I (2) DI (2) 3R (3)
(3) Only (1) and (2) | (3) ®ad (1) 3R (2)
4 (1, (2) and (3) | @ (1). ) 3R (3)
12. Which of the following is the length of the sides of a | 12. FR=IIRId # & RIS BT YOIIAT BT dals a1 & ?
triangle ? |
(1)3cm, 7 cm, 10 cm I (1) 3 91, 7 T, 10 1
(2)2cm, 5 cm, 7cm | (2) 2 I, 5 9, 7 9
(3)6cm, 12 cm, 19 cm | (3) 6 I, 12 AT, 19 9
(4) 7 cm, 24 cm, 25 cm | (4) 7 I, 24 4, 25 9
13. A bag contains 4 green balls, 4 red balls, and 2 blue | 13. wp 37 % 4 8 7, 4 o1 A< 3R 2 el 7S T Afe
balls. If a ball is drawn from the bag, then what is the : T Up I MPrell ST &, a1 9 A1 89 3R 7 & o1
probability of getting neither green nor red ball? | e fAee @ wifidar @ar © ?
2 1 | 2 1
(1) 35 (2) 5 | (1) 35 (2) 5
I
4 1 | 4 1
Q)3 @3 | Q)3 @3
14. The mean of 10 observations 1s 15. If one observation I 14. 10 YeT0Tf T 91eT 15 © | ATG T &TT 15 SIST SIfdl g,
15 is added, then find the new mean. | Tl T A S DI |
(16 2) 11 | (16 2) 11
3) 15 410 | 3) 15 410
Space for Rough Work
PCP sikar Class : VII/P-3 I IT-JEE | NEET | OLYMPIADS 3
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The median of 10, 12, x, 6, 18 is 10. Then which of the | 1s. 10,12, x, 6, 18 &1 Al 10 2| O x @ A @ dR #

15.
following is true about the value of x? I frafRea i a e AT aa © ?
16 <x <10 | 16 <x <10
2)x<6 | 2)x<6
(3)x>18 : (3)x>18
(4) Cannot say (4) 8T PE Hadl
16. Themodeofthedata9,x, 6,3, 4, 9,8, 6,4, 6is 6. Which : 16. STT9.x,6,3,4,9,8,6,4,6 P 981 6 B | fferiad
of the following cannot be the value of x ? | H W B x B A 8T 8 Hhdl 5°
(1)8 (2)7 I (1)8 (2)7
(3)6 )9 NG )9
17. The range of the data 15, 18, 17, 16, 14, x, 12, 10,9, 15 I 17. ©115,18,17,16,14,.x, 12,109, 15 B WHI S x B
is 9. Which of the following is true about x ? | IR # freforRaa § 9 o9 W dw B °?
()x> 18 (2)x<9 | ()x> 18 (2)x<9
3)9 <x < 18 @) 9<x<18 I 3)9 <x < 18 @) 9<x<18
18. Ina bar graph, length of a bar is 6.4 cm and it represents I 18. Udh dR UTH H, U IR Bl ¢idTs 6.4 THI © 3iR I8 256
256 units. Find the number of units represented by a bar | SHISAl BT AR HRar 81 5.3 9 dd1g dlell U
of length 5.3 cm. | IR §RT ST T8 SHIZAT &I G ST HIfTY |
(1)228 (2) 196 | (1)228 (2) 196
(3)212 (4) 224 I (3)212 (4) 224
19. Ifm = (-1)®% and n = (-1)>°*2, then find the value of : 19. @ m=(-1)? 3R n=(-1)*? g, A m/n BT A9 AT
m/n. GAIN I
I
(H-1 @1 | (H-1 @1
(3) 2000 (4) 2002 | (3)2000 (4) 2002
20. The HCF of two numbers is 6 and the product of two | 20. <1 wiensii &1 7. 9. 6 & 3R <1 WReTaH BT qUFBE 360
numbers is 360. Find the LCM of the numbers. I o | el BT . 9. Fd BTy |
(1) 60 (2) 30 | (1) 60 (2) 30
(3) 12 4) 6 | (3) 12 4) 6
21. X is the smallest four-digit number formed by all the | 21. X &I 3@l 0, 1, 2 3R 3 H I dATelT FEH BICT AR
digits 0, 1,2 and 3. Find X. I 3ipt @ FET ¥ 1 X A Y|
1) 123 2) 1023 1) 123 2) 1023
ey 2 | ey 2
(3) 1000 (4) 102 | (3) 1000 (4) 102
Space for IRough Work
PCP sikar Class : VII/P-3 I IT-JEE | NEET | OLYMPIADS 4
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22. Find the least natural number which when divided by 6, | 22. |IH BICT UTHide HAT Sd d 514 6, 9, 12 3R 18
9, 12, and 18 leaves no remainders. I 3 foIforg &9 IR ®Ig 39 9 99|
(1) 36 )72 | (1) 36 )72
(3) 12 4) 18 | (3) 12 4) 18
23. Find the greatest number that exactly divides 81, 144 | 23, oy T G ST BN Sl 81, 144 31 162 DI SIh—SIdh
and 162. | fawTfoTa ol B |
(1) 9 ()27 | (1) 9 ()27
(3) 3 (4) 81 | (3) 3 (4) 81
24. Ifthe sum of two integers is -26 and one of them is 14, | 24. af& <1 Yurfepl BT ART -26 © IR STH ¥ TP 14 &, <l
then find the other integer. | GERT YUriep STl o |
(1) -12 ) 12 I (1) -12 ) 12
(3) -40 (4) 40 | (3) -40 (4) 40
25. Identify which of the following pairs of angles are | 25. Usdr fob forRad § | B ¥ PV [P & |
complementary. |
(1) 65°, 115° (2) 130°, 50° | (1) 65°, 115° (2) 130°, 50°
(3) 63°,27° (4) 112°, 68° I (3) 63°,27° (4) 112°, 68°
|
Space for Rough Work
PCP sikar Class : VII/P-3 I IT-JEE | NEET | OLYMPIADS 5



www.princeeduhub.com

PRINCE OLYMPIAD EXAMINATION

F =pcer NI

E(SCIENCE —

|26 I8 Ul S Pt B ATHA Heal & 3R I W 2,

The plant that attracts and consumes insects called

(1) Cuscuta
(3) Pitcher plant

(2) China Rose
(4) Rose

BHEAT ©
(1) FHGT (2) TSI RIS
(3) =R wIie (4) 63Tt

I
I
I
27. lodine causes a blue black colour when put over cooked I 7. NS U §U Ul R STl YR =IIel Plell I ol &
leaves since it contains | i 9H BIT &
(1) Starch (2) Protein I (1) erd () i
(3) Fat (4) Vitamin I (3) T (4) farerfr
28. The body releases hydrochloric acid from | 28. YRR BISSIFAING URIS Bl Hal I BlSdl o
(1) Linings of small intestine | (1) BICT 3Nd & U=
(2) Inner lining of stomach | (2) U B 3AEHAT U
(3) Pancreas I (3) 3=y
(4) Linning of liver I 4) apd CIRURG]
29. What is the range of the temperature reading of a | 9, YIARTIITAT MHICR & arad AT @l A/ &1 g ?
laboratory thermometer ? |
(1) 35°C - 42°C (2) -10°C - 110°C I (1) 35°C - 42°C (2) -10°C - 110°C
(3) 0°C - 100°C (4) 32°C - 42°C (3) 0°C - 100°C (4) 32°C - 42°C
30. In which mode of heat transfer does the transfer of heat : . ST RIFICRYT & [ AT H BT BT AR T B
occur as a wave ? | wq HBIATE ?
(1) Conduction (2) Convection | (1) =Mt (2) Hag-
(3) Radiation (4) All of these I (3) Tafd=ur (4) 3 |¥
31. The clinical thermometers presently in use in India are | 31 . R H aHE H SUART # 3 aret fdefaer e
marked with a temperature scale. This scale corresponds I R YA GAET 3ifd BT @ | a8 YA freforRaa #
to which of the following ? | ¥ frad A W ©§ 7
(1) Celsius (2) Farenheit | (1) SfeTas (2) BINABIST
(3) Both (1) and (2) (4) None of these I (3) (1) 3R (2) THT (4) STH 9 DIs 8
32. What is the SI unit of temperature ? | 32. AMOHM @ SI SHIS T & 7
(1) Kelvin (2) Celsius I (1) dfcad (2) AT
(3) Fahrenheit (4) None of these | (3) TRABISCT (4) 379 & ®Ig T8l
Space for IRough Work
PCP sikar Class : VII/P-3 I IT-JEE | NEET | OLYMPIADS 6
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33. Sonu and Ria measured their body temperature Sonu | 33. W 3R AT 1 U TR BT AIUAE AT I+ - U7
found his to be 98.6°F and Ria recorded 37°C. Which of | f Sa®dT aUEE 98.6° F © 3R Rar 9 37°C &<
the following statement is true ? | e (f=1forRaa 9 @9 91 oF 9@ © 2
(1) Sonu has a higher body temperature than Ria. | 1) @:LEH IRR BT dIHE RAT 4 1D 2 |
(2) Sonu has a lower body temperature than Ria. | 2) @:LEH IRR BT AgAE RIT | & 2
(3) Both have normal body temperature. | (3) ST BT IRR BT ATIHE HH B |
(4) Both are suffe.ring frF)m fever. | : ) ﬂﬁ:ﬁ;@ﬁ Kl iﬁ%ﬁ %t\l L
34. A natural dye, Litmus is an extract of which of the | 34. V@ urpfere ¥, fereaw fmiferia ¥ fhasr 3w
following ? | g7
(1) China rose (Gudhal) | (1) TSBet
(2) Blueberries (Jamun) I (2) ST
(3) Beetroot I (3) gPax
(4) Lichen (4) ATS®HA
35. The reaction in which an acid react with a base to form I 35. g arfafshar fores art &R @ ey rfafdsam v ofaur
salt and water is called as | 3R STt 99TaT &, S d8d ©
(1) Addition reaction I (1) IT 3rfefeman
(2) Displacement reaction | (2) Tavermue srffar
(3) Neutralisation reaction I (3) SEIRATHRT 3rfAfchaT
(4) Substitution reaction | (4) uferRermue 3rfAfchar
36. Acid present in cold drinks (soft drinks) is | 36. dics fgav (dive o) # wige ol ©
(1) Carbonic acid (2) Citric acid | (1) PEIDG 3rFcd (2) TEfew ard
(3) Tartaric acid (4) Sulphuric acid | (2) TIER® 3T (4) HORIRE 3T+T
37. Metal oxides react with water to form | 37 . 9T AFHSS ST & A1 J(WIHAT BRb a1 &
(1) Acids (2) Minerals : (a) 3T 1 (2) @St
(3) Bases (4) Salts | (3) &R (4) <Tdur
38. Antacids contain: | 38. TeIi¥e # BId &
(1) weak base (2) weak acid | (1) @?{ &R 2) @H 3+
(3) strong base (4) strong acid | (3) UdcT &R (4) UdeT 311
39. The process of breakdown of food particles into small I 39. QeI HUI Bl BIC-BIC W H dred @ ufehar &
pieces is called | FEd o |
(1) Mastication (2) Digestion | (1) T&T-T (2) U+
(3) Peristalsis (4) Diffusion | (3) pATRT (4) TRy
Space for IRough Work
PCP sikar Class : VII/P-3 I IT-JEE | NEET | OLYMPIADS 7
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Which one is a ruminant animal ? I 40. DI AT SEITAT A Tl SR B 2
(1) Elephant (2) Deer | (1) BT (2) f&=ur
(3) Cat (4) Dog | ) fac (4) @

41.

42.

43.

44.

45.

46.

47.

Which of the following component of food do not provide | 4
energy of body building ? I
(1) Roughage (2) Proteins

(3) Carbohydrates (4) Fats

Which one is the largest gland in the human body ?

(1) Pancreas (2) Pituitary gland

(3) Liver (4) Gall bladder

The movement of food in food pipe is called

(1) Lincar movement  (2) Rectilinear movement
(3) Smooth movement  (4) Peristaltic movement
The term that is used for the mode of nutrition in yeast,

I
I
I
I
I
I
I
I
I
I
I
mushroom and bread-mould is |
(1) autotrophic (2) insectivorous I

(3) saprophytic (4) parasitic |

Two organisms are good friends and live together. One I 4

provides shelter, water, and nutrients, while the other |

prepares and provides food. Such an association of |

I

I

I

I

I

I

I

I

I

I

I

I

I

organisms is termed as

(1) saprophyte (2) parasite

(3) autotroph (4) symbiosis

Which mineral is essential for the synthesis of proteins | 4
in plants ?

(1) Potassium (2) Nitrogen

(3) Phosphorus (4) Calcium

What role do fungi play in ecosystems ? 4
(1) They produce oxygen

(2) They decompose dead organic matter

(3) They fix nitrogen

(4) They absorb light energy |

42.

43.

44.

1. 9o &1 FrEferRad § 9 o9 91 ged INR Hafor @y
SOl WGTH el Bl © ?

(1) BT () i
(3) PrETEIgST (4) T
2. 99 IR ¥ a9 991 U pie A g ?
O ERRIND (2) et ufr
(3) Ipa (4) forerg
3. o el # Ao @Y TR BT BT ST
(1) XRaga e (2) JMIATDBR T
(3) feraeit wrfar (4) WR¥eTfees wfa
WHR, AYEH 3R se—Hles # UV & TRId & folv

AT fohaT STH drelT ¥ 2
(1) g (2) dicwen

4

(3) gaITSid (4) TSI

5. QI ONd 318 TG & 3R 12 38d & | Udb 311373, U+ 3R
6

IS Oed WG Rl &, Sididy GasT Ao (IR HRd]
2 3N U™ PRaT 2 | Shidl & VW WY Bl el Sl o

(1) gargoirdr PRESIE
(3) U (4) HEGlad

. T | UidE @ el & forv eiF |1 wWivet navad
4
(1) urelRrm (2) AESIoH
(3) BIEDHIRY (4) Dfceras

7. aiRReIfa! a1 # wad @@ wfFe v § ?
(1) T 3RS BT e B &
(2) I qd drei-d yarAl &1 fdueT s §
(3) T AAECIOH Bl ReR & &
(4) T UBTI Soll BT JFTNT B &

Space for IRough Work
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48. When a man with stomach pain went to the doctor, the l 48. 19 YT &< ¥ Uifsd U aafh Sfaex @ urd am, ol
physician identified acidity. Which of the following would | fafdead =1 vRIfedt @ ugam @ | f=falRaa § @ o
be the suitable remedy for him ? | |1 SHe v Sugsh Surg BRI ?

(1) Lemonade drink | OEECIERIEL
(2) Baking soda | ) afebar et
(3) Aerated drink : (3) Trfad 9

(4) Vinegar | (4) R

49. Starch is broken down into sugars by the action of | 49. T foad! far gRT oravr § ¢c SIrdr H
(1) saliva | (1) IR
(2) bile juice | o faw
(3) hydrochloric acid I (3) TEgIFAIR® RIS
(4) all of these | 4) ¥

50. The digestive tract and the associated glands together | 50. UTed T 3R Hafdd Uil Add a4Rl &
constitute the |
(1) digestive system (2) oesophagus l (1) ura= aF (2) ITETAT
(3) alimentary canal (4) nutrition system I (3) UTed el (4) TS0 YoITeAT

|
Space for Rough Work
PCP sikar Class : VII/P-3 I IT-JEE | NEET | OLYMPIADS 9
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The main mineral constituents of the continental mass | 51. HETE g & T Gl gch ©

arc

I
(1) Silica and ferrous : (1) faferar @ik @i
(2) Silver and ferrous | (2) I 3R &g
(3) Silver and alumina : (3) il 3R U
(4) Silica and alumina | (4) TaferT 3R TegfAAT
52. Indiaisthe largest producer of medicines in the | 52. WRd g+ H garll @ ......... G 981 SURd © 3AR
world and is also a large exporter of medicines. | ARl &1 Ue g9l Hafas i & |
(1) 5th (2) 3th I (1) 5af (2) 3dt
(3) 6th (4) 2nd | (3) 6af (4) 24t
53. Settlements of peasants, known as ____, became | 53. foramt @ aRaat, g ... & T H ST ST ©,
prosperous with the spread of irrigation in agriculture I IGEIE] Gal D TR B 1T Wig RIS
(1) Uzi (2) Ur | (1) ST Q)R
(3) Uri (4) Udi | (3) 3 (4) 3
54. What is the other name of Ladakh ? | 54. <rera & TERT M F1 5 ?
(1) Indus (2) Kargil : (1) &g (2) PRATA
(3) Khapa-Chan (4) Karakoram | (3) W2 (4) TIDRA
55. Who are seller in the weekly market ? | 55. wrafe sToTR # fasar & € ?
(1) Businessmen (2) Large sellers : (1) TaarRT (2) IS fagar
(3) Small traders (4) Industrialist | (3) BT AU (4) SeETUfe
56. Sultan Iltutmish's daughter | 56. Hea™ godaiier &l 4 ...
(1) Roza (2) Raza | ()2 Q) 7o
(3) Riyaza (4) Raziyya I (3) R (4) =T
57. Babur was forced to leave his ancestral throne due to | 57. T 3 HII WG P IAHHU P BRI dER Pl 370
the invasion of another Mongol group . | Uger RIETE Pl Bl @ forvw HOTR BT TS ...
(1) Uzbega (2) Uzbags I (1) SO (2) SSERT
(3) Uzabegs (4) Uzbegs | (3) SO (4) SSTET
Space for IRough Work
PCP sikar Class : VII/P-3 I IT-JEE | NEET | OLYMPIADS 10
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58.

59.

60.

61.

62.

63.

64.

PRINCE OLYMPIAD EXAMINATION
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The government has passed laws that make it mandatory I 58. WRBR 7 UV DA UG fdby § <

for organisations that have more than employees |
to provide creche facilities.
(2) 20 women

I

(1) 40 women |
(4) 30 women :
I

(3) 30 men

Which Gond raja of Garha Katanga, assumed the title
of Sangram Shah ?
(1) Amar Das
(3) Ram Das

(2) Aman Das
(4) Rahim khan

How much percentage of saline water is available on
carth surface ? |
(1975 (2)98.2 |
(3)95.2 (4)93.5 I
The Labrador Ocean current is  current while the |
Gulf Stream is a __ current I
(1) cold, warm (2) cold, cold |
(3) warm, warm (4) warm, cold |
The Ahom state depended upon forced labour. Those |
forced to work for the state were called |
(1) Bhuiya (2) Itinerant I
(3) Paiks (4) Tanda |
I
I
I
I

Cultivation in which trees and bushes in a forest area | 63.

are first cut and burnt. The crop is sown in the ashes. |
When this land loses its fertility, another plot of land is |
cleared and planted in the same way. It is called
(2) Shifting cultivation
(4) Burn Cultivation

. . — |
(1) Multiple cultivation |
I

(3) Modern cultivation

The temple theatre of Kerala built by Chera borrowed | 64.

stories from the ) |

(2) Hindi Epics I
(4) Sanskrit epics |

(1) Roman Epics
(3) Tamil Epics

59.

6

6
6

9
0.
1
2

A 2w
BHATRAT ATel T34 & U RIYMTE AL JaT e

SIECIRICEIN] gl
(1) 40 AfeTd (2) 20 ATy
(2) 30 goY (2) 30 AfEATY
gl &1 Hs R WR YT BT a1 afererd Sucie © 2
(1)97.5 (2) 98.2
(3)95.2 (4) 93.5
TSR AR @ 9T ........ RT © SIdfdb Teh I
..... gRT &
(1) 31, (2) TSI, BSI
(3) T, TH (4) T, e
. 3B IS WA AoIgy UR ¥R o | s & forg
B B 17T /SR AR B ..., DBI STl off |
(1) g=ar (2) gHT,
(3) Urgh (4) creT
. QT HE & (4 TTE ST A FUTH T8 BT SYT =0T
DI ?
(1) 3FR 3T (2) 37 T
(3) I & 4) B @

il ST SiTeT @ ol gelle 3§ Us—Ule dhIea STell
fov 9t 81 g # wad 91 SN § 1 o9 ¥8 oHE
3O ST W el &, Al GERI S Dl A DR ST

TE W B SIS T 81 39 o PEd o |

(1) Igfag @i (2) IR e

(3) 3T it (4) STCATdR WY

RN g1 AT axa @ #fer Proex Kl
BTl SR el of |

(1) ¥ ABTHT (2) &< ATy

(3) A HETHRI™ (4) G HBThTA
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65.

66.

67.

68.

69.

70.

Lilatilakam deals with . |
(1) Drama and poetics
(2) Drama only

(3) Poctics only

(4) Grammar and poetics
On Amazon basin .
(1) Day and nights are almost equally cool and dry

(2) Day and nights are almost equally hot and humid
(3) Night are longer than day and are more hot and humid

I

I

I

I

I

I

I

I

I

I

I

(4) Day are longer than nights and are more cool and I
humid |

are built on steep slopes to create flat surfaces |

on which crops are grown. |
(1) Land (2) Plains |
(3) Terraces (4) Plateau I
I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

The staple food in the rainforest area is
(1) Menero (2) Menious
(3) Manico (4) Manioc

The molten magma cools down deep inside the earth's
crust. Solid rocks so formed are called

(1) Intrusive Sedimentary rocks
(2) Intrusive Metamorphic rocks
(3) Extrusive igneous rocks
(4) Intrusive igneous rocks
Which type of rocks are called primary rocks ?
(1) Fossils

(2) Igneous

(3) Metamorphic
(4) Sedimentary |

66.

67.

68.

69.

70.

PRINCE OLYMPIAD EXAMINATION I 9 PCP ||
65. oATerTfcrerdd ....... RIGCIERES
(1) TE® AR BRI
(2) DA ACH

(3) DT BT

(4) TTHROT 3R BT
MO 4R ™)
(1) &= 3R T ST TR WU ¥ 8 31R IEp B &
(2) f&H 3R T T FHF ®Y W T 3R 3 B §
(3) W faT & e BIch € 3fR 21fde T @ik 3 Bl

g
(4) &7 v 9 &9 814 € iR 3 S 3R and Bl &

............ [S! Al IR g91C ST & dlfh o Ads

TS ST 9 T IR el S ST 9 |

(1) A (2) faT
(3) IR YA (4) UOR
qutae & # q@& Ao . H

(1) A7RY (2) 5
(3) HfFat (4) Hf9ia

forereTr gam #vT gt 9 Ul @ 3ieR MENIS H Il &
ST B | $¥9 YR 99 dTell 31 g I @l ....... Bl
g

(1) gHUS Jadrar TS

(2) gaYs WeHifthe g™

(3) afedelt am=g Tg

(4) gUS 3T I

fohd TR &1 gl B mAAG TS Bl S &
(1) Strares

(2) 31T

(3) WeHifh®

(4) sra™TRT
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F =pcer NI

E(Emﬁusu —_—

_ apple a day keeps the doctor away. I 81. He was tired  he went to bed early.
(1) A (2) An | (1) although ) I)ut
(3) The (4) Some | (3) so 4 if
72. He bought books from the fair. | 82. She at the moment.
(1) much (2) a few | (1) studies (2) studied
(3) little (4) alittle I (3) is studying (4) study
73. Ihave time to finish this project. | 83. He was late he missed the bus.
(1) alittle (2) a few I (1) because (2) so
(3) much (4) little | (3) and (4) but
74. The car was washed by the mechanic. | 84. The project completed by tomorrow.
(1) tomorrow (2) last week | (1) is (2) will be
(3) by itself (4) frequently | (3) was (4) is being
75. If1 the answer, I would have told you. I 85. There is milk left in the fridge.
1) knew 2) know 1) a few 2) an
23; have known 24; knows | 23; some 24; they
I
76. You can go you finish your homework. | 86. vou leave, please close the door.
(1) before (2) because | (1) Before (2) After
(3) after (4) until I (3) But (4) So
77. The cake caten by the children before I arrived. : 87. The homework by the teacher.
(D is (2) was (1) was checked (2) is checking
(3) has been (4) had been : (3) will check (4) check
78. 1 will stay at home it rains. | 88. We can play the rain stops.
(1) and (2) but | (1) although (2) before
(3) because @) if I (3) after (4) while
79. He to the gym every morning. | 89. He reading the book by tomorrow.
(1) go (2) went I (1) finished (2) finishes
(3) goes (4) going | (3) has finished (4) will have finished
80. The movie by many people last night. | 90. of the students were present at the meeting.
(1) was seen (2) is seen | (1) Each (2) Some
(3) will be seen (4) sees | (3) Many (4) Much
Space for Rough Work
PCP sikar Class : VII/P-3 I IT-JEE | NEET | OLYMPIADS 13
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F =pcer NI

E(MATJE

. Look at this series : 10, 100, 200, 310, .... What number | 91. $9 Gl &I << 10, 100, 200, 310, ... DI A H=T
should come ? | 3T =g ?
(1) 400 (2) 420 | (1) 400 (2) 420
(3) 390 (4) 430 : (3) 390 (4) 430
92. Look at this series 0,7,26, 63,124, ..., What number | 92. S sRgell &l 7w 0,7,26,63, 124, ... ... SHD 918 DI
should come next ? : T =T 3MHT ARy P
(1) 130 (2)215 | (1) 130 (2)215
(3)216 4) 195 I (3)216 (4) 195
93.aa_b b cc I 93.aa_b b cc
(1) abb (2) aab | (1) abb (2) aab
(3) abc (4) bbe | (3) abc (4) bbe
94. E=5 and HOTEL =12, Then LAMB will be I 94. E=5 and HOTEL =12, Then LAMB will be
(1) 12 (2) 28 | (1) 12 (2) 28
3)7 (4) 20 | 3)7 (4) 20
95. AC,EGIK, ............. : 95. AC,EGIK, .............
(1) MO (2) MN I (1) MO (2) MN
(3) LM (4) HP : (3) LM (4) HP
96. Sort these words into alphabetical order and mark the | 96. =7 Sea] bl JUMHTET HH H afkerd a3k 3ifeH &l
last one. | fafed & |
(1) Bishop (2) Brink I (1) Bishop (2) Brink
(3) Bicycle (4) Bitter | (3) Bicycle (4) Bitter
97. Which letter is the exactly between 13rd letter from right | 97. 3Gl aofarer # & & 139 seR ok AW & 109 aeR
and 10th letter from left in English alphabet ? I & 41 H BF AT R 8°
(HH @L | (HH @L
() F 4) E I () F 4) E
Space for IRough Work
PCP sikar Class : VII/P-3 I IT-JEE | NEET | OLYMPIADS 14
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98.

99.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

If x means +, - means X,+means+and+means-,thenI 98. Ifa x P13l + B, - dr1 31t x §, ~ B 3Rf + B 3 +

(15-30+30) x 14+12 =2

(D) -1
()4

2)2
(4) None

P 31 - &, Al (15-30+30) x 14+12 =7
(1) -1 ()2
3)4 (4) None

If Q means 'add to', J means ' multiply by ', T means ' | 99. If& Q &1 31ef ‘SreAT B, J Br 31ek RILINCASIE g, T &l

I

I

I

I

I

I

subtracted from' and K means ' divide by ', |
60K12Q6 J12T10="? I
(2)28 :
I

I

I

I

I

I

|

31ef ge T B 3R K &l 312l Ny 1 8,
60K12Q6 J12T10=2

(1)22 (1)22 (2)28
(3) 67 4) 77 (3) 67 4) 77
100. Select the correct set of symbols which will fit in the | 100. U<l &1 HEI T g I 4T 7T FHRT H e BATI
given equation 402 122 =60 402 122=60
(1) X, XX (2) > —I_: X (1) X, XX (2) > —I_: X
(3) x, +, x (4) None of these (3) %, +, x (4) 3 9 By 81
Space for Rough Work
PCP sikar Class : VII/P-3 I IT-JEE | NEET | OLYMPIADS 15
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